
LONDON BOX

INSTALLATION INSTRUCTIONS



1

3.2mm

6mm



2

Box Contents:

[1]  2xTop Horizontal Rails.
      2xBottom Horizontal Rails.
      8xScrews M4x35.
     

[3]  1xInstallation
          Instruction.

[4]  2xHandle Sets.

[5]  8xWall Plugs.
      8xScrews M4x35.
     

[6]  8xScrews M4x8.
      8xScrew Cover Caps.

[9]  4xWater Deflectors.
      
      

[8]  2xMagnetic Seals.

[10]  2xWall Posts.

[11]  2xFixed Panels.

[12]  2xDoor Panels.

[13] 4xBumper Blocks.

[7]  2xCorer Connectors.
      4xScrews M4x8.

[2] 
      

 4xTop Rollers
4xBottom Rollers

 4xScrews M4x12



Assembly Drawing

[1]   8xWall Plugs.

[2]   8xScrews M4x8.

[3]   16xScrews M4x35.

[4]   12xScrew Cover Caps.

[5]   2xWall Posts.

[8]   2xBottom Horizontal Rails.

[10] 4xWater Deflectors.

[11] 2xDoor Panels.

[12] 2xFixed Panels.

[14] 2xTop Horizontal Rails.

[15] 2xCorer Connectors.

[16] 4xTop Rollers.

[17] 2xHandle Sets.

[18] 2xMagnetic Seals.

[19] 4xBottom Rollers.

[20] 4xScrews M4x8.

[21] 2xPosts.

[1]

[2]

[4]

[5]

[6]

[11]

[10]

[8]

[20]

[19]

[18]

[17]

[16]

[14] [15]

[12]

[13]

[7][9]

[3]

[21]

[9]   4xBumper Blocks.

[7]   4xScrews M4x12.

[13] 8xSet pieces.

3

[6]   4xSealed Gum Lumps.



Step 2

Screw 
M4x12

3

1

2 2

sealed gum lump

Screw
M4x35

Installation Steps:
Step 1

2

1

3

1

2

3

4

1

M4x35

2

1

Screw 
M4x12

3

90



Step 3

Step 4

1

2

2

1 Screw 
M4x8

View from inside

1

2

1

2

1a

1b

2a

2b

5



Step 5

Step 6

Fixed Panel Door Panel

1

2 

3 3

2a 2b

3a 3b

View from inside

Screw M4x8 

1a
1b

1c

1 1

6

1a 1b



Step 7

1

7

1


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

